
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

Monday, 2/12-1
Indexed sets , union, intersection.

he idea : suppose we have a set An for each
C In some set 1 . Then :

(a) We call each <El an index , or a

subscript.

b) We call I an indexing set.

(c) We define :

Ac = Ex : XE An for some xe 53

("the union of the Ax's over < in I'l

f Ac = Ex : XE Ac for all <e 93
2t

("the intersection of the Aa's over < in 1"l .

Example 1 .
Let IR = Epositive real numbers's

- Ex E IR :
x >03 .

For each LEIRT define
Aa = 2xE(R : -xxx3 = (- x, x) .

Then

xcU, Ax = R , + Ax = 203 .

sle 2
.Examp

Let P-positive prime numbers
3El

= E 2
,
3
,
5
,
7
,
11
,
13
,
17
,
19, 23 ,29 ... 3



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 



 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 


